R-state-var-compat3!'!:4°

Vi:Id, dsy,dso:fpf(Id; x. Type), da:fpf(Knd; k.Type), x,y:1d, T1,T5:Type,
ks1,ks2:(Knd List), tri:(k:{k:Knd| (k € ks1)} —decl-state(ds;)—ma-valtype(da; k)—T1—
T1)7
tro:(k:{k:Knd| (k € ks2)} —decl-state(dss)—ma-valtype(da; k)—To—T5).
(~(z =y))
= fpf-compatible
= fpf-compatible
= fpf-compatible
= fpf-compatible
= R-compat{i:l}
(R-state-var(i; ds1; da; x; Ty ksq; tr1);
R-state-var(i; dso; da; y; Ta; ksa; tra))

Id; a.Type; id-deq; dsy; fpf-single(z; T1))
Id; a.Type; id-deq; dsq; fpf-single(y; 1))
Id; z.Type; id-deq; dsa; fpf-join(id-deq; dsq; fpf-single(z; T1)))
Id; 2. Type; id-deq; dsy; fpf-join(id-deq; dss; fpf-single(y; T2)))
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